

Q56

$$y = \frac{x^2 - 3x + 3}{x - 1}$$

(1)

Q56)

axes:  $x=0$ :  $y = \frac{3}{-1} = \underline{\underline{-3}} \Rightarrow \underline{(0, -3)}$

$y=0$ :  $\frac{x^2 - 3x + 3}{x - 1} = 0$

$$x^2 - 3x + 3 = 0$$

$$b^2 - 4ac = (-3)^2 - 4 \times 1 \times 3 = 9 - 12 < 0$$

As  $b^2 - 4ac < 0 \Rightarrow$  Doesn't cut  $x$ -axis

symmetry:  $\frac{(-x)^2 - 3(-x) + 3}{(-x) - 1} = \frac{x^2 + 3x + 3}{-x - 1} = \frac{x^2 + 3x + 3}{-(x + 1)}$

As  $f(-x) \neq \pm f(x) \Rightarrow$  Not Odd/Even  
 $\Rightarrow$  No Symmetry

ax/ini  
pts

$$y = \frac{x^2 - 3x + 3}{x - 1}$$

$$y = x - 2 + \left(\frac{1}{x - 1}\right) \leftarrow \rightarrow$$

$$y = x - 2 + (x - 1)^{-1}$$

$$\begin{aligned} \frac{dy}{dx} &= 1 - (x - 1)^{-2} \\ &= 1 - \frac{1}{(x - 1)^2} \end{aligned}$$

Stat Pts  
 $\frac{dy}{dx} = 0$

$$1 - \frac{1}{(x - 1)^2} = 0$$

$$1 = \frac{1}{(x - 1)^2}$$

$$(x - 1)^2 = 1$$

$$x - 1 = \pm 1$$

$$\underline{\underline{x = 1 \pm 1}} \Rightarrow \underline{\underline{x = 0}} \neq \underline{\underline{x = 2}}$$

2 Stat Pts ab.

256  $y = \frac{x^2 - 3x + 3}{x - 1} = x - 2 + \frac{1}{(x-1)}$  (2)

2 Stat Pts

$x=0$ :  $y = \frac{3}{-1} = \underline{\underline{-3}} \Rightarrow \underline{(0, -3)}$

$x=2$ :  $y = \frac{(2)^2 - 3(2) + 3}{(2) - 1} = \frac{1}{1} = \underline{\underline{1}} \Rightarrow \underline{(2, 1)}$

Nature:  $\frac{dy}{dx} = 1 - (x-1)^{-2}$

$\frac{d^2y}{dx^2} = 2(x-1)^{-3} = \frac{2}{(x-1)^3}$

At  $x=0$   $\frac{d^2y}{dx^2} = \frac{2}{(0-1)^3} = \underline{\underline{-2}} < 0 \Rightarrow$  Max TPE  
 $(0, -3)$

At  $x=2$ :  $\frac{d^2y}{dx^2} = \frac{2}{(2-1)^3} = \underline{\underline{2}} > 0 \Rightarrow$  Min TPE  
 $(2, 1)$

POI  $\left| \frac{d^2y}{dx^2} = 0 \right| \quad \frac{2}{(x-1)^3} = 0$  No POI  
 $2 \neq 0 \Rightarrow$  exist

Extremes of  
asymptotes

Vertical Asymptote at  $x=1$   
(Undefined)

$x \rightarrow 1^+$	$y \rightarrow +\infty$
$x \rightarrow 1^-$	$y \rightarrow -\infty$

Non-horizontal Asymptote  $y=x-2$  (as  $x \rightarrow \pm\infty$ )

for  $y = x - 2 + \frac{1}{(x-1)}$

$x \rightarrow +\infty$	$y \rightarrow (x-2)^+$
$x \rightarrow -\infty$	$y \rightarrow (x-2)^-$



Q56 Summary  $\text{Max}(0, -3); \text{Min}(2, 1)$  (3)

$x=1$  &  $y=x-2$  are 2 asymptotes

